Percentage Increase Worksheet

Solve.

94 is increased to 148.52. What
is the percentage increase?

Answer:

57 is increased to 106.02. What
is the percentage increase?

Answer:

93 is increased to 132.99. What
is the percentage increase?

Answer:

61 is increased to 122. What is
the percentage increase?

Answer:

14 is increased to 27.86. What
is the percentage increase?

Answer:

24 is increased to 37.2. What is
the percentage increase?

Answer:

39 is increased to 41.34. What
is the percentage increase?

Answer:

10 is increased to 10.7. What is
the percentage increase?

Answer:
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Percentage Increase Worksheet

Solve.

94 is increased to 148.52. What
is the percentage increase?

Answer: 58%

57 is increased to 106.02. What
is the percentage increase?

Answer: 86%

93 is increased to 132.99. What
is the percentage increase?

Answer: 43%

61 is increased to 122. What is
the percentage increase?

Answer: 100%

14 is increased to 27.86. What
is the percentage increase?

Answer: 99%

24 is increased to 37.2. What is
the percentage increase?

Answer: 55%

39 is increased to 41.34. What
is the percentage increase?

Answer: 6%

10 is increased to 10.7. What is
the percentage increase?

Answer: 7%
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